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General Awareness

Q1 Through, which of one among the following materials, does sound travel lowest:

fFPrafafaa d @, fea Tt & w1 A wafs aen gad 9 adt 2:

Ops: A. ¢ Air
&drl

B. ¢ Glass
RIS IES

C. ¢ Water

urt

D. ~ Wood

GEE]
Q2  The Vijay Nagar Advanced Landing Ground of the Indian Air Force, which was re-opened recently, is located in
YR IR A1 T faoa TR saivs dAfeT ards, ot g1ar 81 # 5w 3 3= forar wan o1, e fRua 2

Ops: A. ¢ Jammu and Kashmir

S 3R HRHR

B. ¢ Arunachal Pradesh
SRV U
C. ¢ Karnataka

D. ¢ Himachal Pradesh

Q3 A jet engine works on the principle of conservation of

oe 35 o & Rigia Wem aRare
Ops: A. ¢ Linear momentum
&g fa

B. ¢ Angular momentum
C. ¢ Energy

D. ¢ Mass
SodHI

Q4 "The stars seem to be higher on the sky they actually are' this can be explained by:

"R IId § AT A f57d $2 g1 @ ST Sifte Udid gid @ " U8 SU® gIRT HHSIT Sl HhdT @ :

Ops: A. ¢ Atmospheric refraction

B. ¢ Dispersion of light

YD BT

C. ¢ Diffraction of light
USRI &1 fage=

D. ¢ Total internal reflection
Fd AP WIae

Q5 In SONAR, we use

SONAR & 89 TR &4 &

Ops: A. ¢ Infrasonic waves



PTG aat

B. ¢ Ultrasonic waves

C. ¢ Radio waves

g o
D. ¢ Audible sound waves
gy taf e
Q6  Which one of the following is an element?
IREINICEE K p K IR G
Ops: A. ¢ Topaz
RCRy|
B. ¢ Diamond
C. ¢ Ruby
=4t

D. ¢ Sapphire

Q7  Which of the following gases is used for refrigeration?

=it & fore faferfaa # @ @9 O 89 &1 i fear srar @ 2

Ops: A. ¢ Chlorine

B. ¢ Sulphur dioxide
bR SIS S
C. ¢ Phosphine

D. ¢~ Ammonia

Srfaar

Q8 In the human body, red blood cells are produced in:

A9 IR § AT ¥ad PIABTSH $TIATGT BT @ :

Ops: A. ¢ Liver

R
B. ¢ Pancreas
™Y
C. ¢ Bone marrow
SR 7w
D. ¢ None of the above
IWRIed & A PIS 81
Q9 Night blindness can be corrected by intake of:
9P A9 A Wi # St Far ST IHare
Ops: A. ¢ Vitamin A
ICEIEERY
B. ¢ Vitamin B
faeftm &t

C. ¢ Vitamin C

IELIEEK



Q10

Ops:

Q11

Ops:

Q12

Ops:

Q13

Ops:

Q14

D. ¢ VitaminD

Who was appointed as the Chief Executive Officer (CEO) of Alphabet Inc. in 2019?
2019 § "IEHTAC §F "B G SRRt St fa fgepa farar man

A. ¢ Steve Ballmer

e IR

B. ¢ Satya Nadella
|1 A8

C. ¢ Sergey Brin
ﬁTffa'—r

D. ¢ Sundar Pichai

e forarg

Who was elected as the Prime Minister of the Britain in December 2019?

TR 2019 ¥ f3es &1 g 67 g7 M 2
A. ¢ Gordon Brown

NIER KIS
B. ¢ David Cameron

C. ¢ Theresa May
AT H

D. ¢ Boris Johnson

What was the theme of 11th DefExpo held in Lucknow, Uttar Pradesh?

WS, 3R U W H ATAford 11 9 fEh=1 vaayl &1 fawg =m ot 2

A. ¢ Digital Information of Defence'
& ot f$Rred gae

B. ¢ Indian Defence role in theTransforming india

YR I&T T HRA & URad= & arrer

C. ¢ Digital Transformation of Defence'

& 31 feforea ufvad=

D. ¢ Defence and Indian Economy'

&I 3R R arferawat

Where was the India's 1st plant set up to produce diesel from plastic waste opened?

RS A% A SIVd §91 & U, HRd ST Ugd1 Wic $gl Gl 141 82

A. ¢ Aizawl

B. ¢ Mathura
HYT
C. ¢ Shillong

D. ¢ Kohima

ifgHT

Where is India's first marine national park located in?

YR BT Ugal G urh Sl R fRAT T 2



Ops: A. ¢ The gulf of Mannar
AR P @It

B.  Bay of Bengal
CUIGK KGR
C. ¢ Gulf of Khambhatkhambat

THTE B @ISt

D. ¢ Arabian sea

3R IR

Q 15 Which of the following company has partnered with UNESCO to adopt technology in classrooms?

9 9 59 $U A UNESCO & 1Y HTfiER A Menfies) & o0 49 § sru=rar g2

Ops: A. ¢ Samsung
B. ¢ Lenovo
C. ¢ Toshiba

D. ¢ Dell

q

Q16 Facebook launches cryptocurrency which allows users to make financial transactions across the globe. It's named as:

Huag® F gRT AT B 7S frpie e ot i fay w A ffm v F egufa dar e, s1am @ 2

Ops: A. ¢ Dobil

Siferet

B. ¢ libra

IEL

C. ¢ cryco

D. ¢ Digicy

Q17 Rustom-2, which crashed in Karnataka recently, was a/an

T -2, St T &1 § Plcd W gue-TIRd g 4T, T AT

Ops: A. - Fighter Aircraft
eTe faur

B.  Helicopter

C. ¢ Transport Aircraft
uRag+ faum

D. ¢ Unmanned aerial vehicle

A9 fed (Faafed ) aradig ared

Q 18 Which of the following are the characterstics of electromagnetic waves ?
(A) They are elastic waves.
(B) They can also moves in vacuum.
(C) They have electric and magnetic components which are mutually perpendicular
(D) They move with a speed equal to 3 lakh meters per second
Select the correct answer using the code given below : !
fFafafae 9§ @ 919 0 fagga gota ol i iuad § »
(A) q TR AT §
8) @ Fafa # +ff em g gt €



Ops:

Q19

Ops:

Q20

Ops:

Q21

Ops:

Q22

Ops:

() T8 figya SR g UeHr gld &, N T g‘ﬂ’\’é?amatﬂ%%
(D)%smrmuﬁrm%waﬁwﬁaﬁ?ﬁ

o faE 1T Fe &1 wahT #Y 98 W g
A. ¢ 1,23and4
1,2,3 304
B. ¢ 1,2 and4only
Fad 1,2 3R 4
C. ¢ 2and3only
Haa2 3R 3
D. ¢ 3and4only
Haa 3 iR 4
Which one of the following is a non-metallic mineral ?
Frafafaa & 3 #1991 te srnfas @ =g 2
A. ¢ Iron
B. ¢ Mica
HYIDP
C. ¢ Copper
GIEL
D. ¢ Bauxite
CIESIES

Which one of the following is a Rabi crop in the Northern States of India ?

fFrrafefad § 9 19 91 HRd & ST I8 A I B I g 2

A. ¢ Rice
EICGE
B. ¢ Bajra
qTeiRT

C. ¢ Barley

D. ¢ Ragi

it
Pradeep Port is located on the delta of river
URTEN d53e o T & ST R fRa g 2
A. ¢ Rihand
B. ¢ Ganga

RICII

C. ¢ Mahanadi

D. ¢ Baitarani

Which one of the followmg hypothesis/ theory explains the origin of the universe ?

fFafafaa & ¥ 19 @ e/ Rigia sais 3t Safv 3t aren wwarg 2

A. ¢ Nebular hypothesis

IR (AR eTRUARmT )



B. ¢ Binary theory

feamemdt Rytia (areTdt )
C.  Big Bang theory
frsia (fardm o)
D. ¢ Planetesimal hypothesis
TeT0] RS e (WA Re grgurdifte)

Q23 Which among the following struggles, based on Gandhi's phllosophy of Satyagraha involved the industrial working class *

' FATIE ' &= UR 3muTRd i & fAuferad Joul # | faw shenfie yftre ot e ar 2

Ops: A. ¢ Champaran

TJURA

B. ¢ Kheda
gl

C. ¢ Ahmedabad
SEHGTSTG

D. ¢ Bardoli

Q24 Which of the following property of sound is affected by change in air temperature ?

aTg ¥ ATUHT § ufad= ¥ wafy o1 Prafaied § @ S o aHiRd e 2

Ops: A. ¢ Amplitude

fowr

B. ¢ Wavelength
C. ¢ Frequency

D. ¢ Intensity

Q25 The directive principles incorporated in the Indian Constitution have been inspired by the constitution of :

YRdIg Sfaer # e Ffafrdwre Rigid feae @A aRka 2

Ops: A. ¢ Canada
HATST

B. ¢ Ireland
C. — USA

3mf¥aT

D. ¢ Australia

Q26 The common name of sodium bicarbonate is :

AfETH ISPEC PTIHT ATH FATE ?
Ops: A.  Baking powder
Iy
B. ¢ Baking Soda
afTAreT
C. ¢ Sodaash
1o

D. ¢ Sodalime



ST ATSH

Q27 If there is one million Mg* ions in MgCI’, how many chloride ions are there ?

gfg MgCr # ts faferaT Mg 3maq €, ) SR FaR1gS o fraa & 2

Ops: A. ¢ Ten million

& faferas

B. ¢ Two million

3 fafere=

C. ¢ Half a million
3 faferas

D. ¢ One million

s faferas

Q 28 Soilless agriculture refers to :

RREIPRA P A HAT 2
Ops: A. Il}ter-cropping
S[RTeT WA

B. ¢ Sericulture

I I

C. ¢ Hydroponics
ofe wad=

D. ¢ Hygroponics
Hadq

Q29 The gas that causes suffocation and death when coal or coke is burnt in a closed room is :

oiq fareft dg FER W Frgar serar SraT @ $i W A9 g 3R Jog BT SR 1 2
Ops: A. ¢ Ethane
EOL
B. ¢ Carbon di-oxide
HIE TR - S S
C. ¢ Methane

LIE |

D. ¢ Carbon monoxide

P AT RITSS

Q30 Name the first Asian country to Orbit Mars

HITE o URpHT H&T H 9 aral UyH TRETS ¢ T 714 9d15¢ 2
Ops: A.  Japan
ST
B. ¢ China

o=

C. ¢ India
HRd

D. ¢ Pakistan

LIEZSIE]
2English

Q1 Pick the word that is closet in meaning to 'Eccentric'.

Ops: A. ¢ Strange



Q2

Ops:

Q3

Ops:

Q4

Ops:

Q5

Ops:

Q6

Ops:

Q7

Ops:

B. ¢ Natural
C. ¢ Shine

D. ¢ Gentle

Pick the word that is closet in meaning to 'Justify’

A. ¢ Defend
B ¢~ Tender
C. ¢ Cruel
D

¢~ Optional

Antonym of 'Sarcastic':

A. ¢ Ironical
B. ¢ Derisive
C. i Courteous
D

~ Saucy

Antonym of 'Vanity':
A. = Modesty

B. ¢ Esteemed
C. ¢ Conceit
D

¢~ Pretension

Pick the word that is closet in meaning of the idiom '""Make a long story short":

A. ¢ Come to the point
B ¢~ No manners
C. ¢ Allofit
D

¢~ Everything

Pick the word that is closet in meaning of the phrase "about to"':

A. ¢ to be on the point of doing something.
B. ¢ suddenly, without advance warning

C. ¢ withregard to
D

¢~ in addition

Animals that eat flesh:

A. ¢ Herbivorous



Q8
Ops:

Q9
Ops:

Q10
Ops:

Q11
Ops:

Q12
Ops:

Q13
Ops:

B. ¢ Carnivorous
C. ¢ Amphibians

D. ¢ Gregarious

Draw .... map of India.
A, ~ A

B. ¢ The

C. ¢~ An

D. ¢ Zero article

Doctor says it is .... hopeless case.

A. ¢ the

B. ¢ an

C. — a

D. ¢ zero article

me the day ..... yesterday.
A. ¢ after

B. ¢ Dbefore

C. i since

D. ¢ over

He rules .... a vast empire.

A. ¢ above

B. ¢ upon

C. ¢ over

D. ¢ under

Our hoard is little, .... our hearts are great.

A. ¢ and
B. &~ or
C. ¢ but
D. ¢ that

Two .... two make four.
2567050

A. ¢ a



Q14

Ops:

Qi1s

Ops:

Q16

Ops:

Q17

Ops:

Q18

Ops:

B. ¢~ and
C. ¢ but

D. ¢~ an

Choose the word /phrases which is most similar in meaning to the word phrases from the following options in question.

Contract

A. ¢ Tract

B. ¢ Expand
C. ¢ Give
D. ¢ Abridge

Choose the word /phrases which is most similar in meaning to the word phrases from the following options in question.
Docile

A. ¢ Vague

B. ¢ Gentle
C. ¢ Stupid
D

¢~ Stubborn

Choose the word /phrases which is most similar in meaning to the word phrases from the following options in question.
Erotic

A. ¢ Wandering

B. ¢ Given to mistakes

C. ¢ Difficult
D

{~ Amorous

Choose the word /phrases which is most similar in meaning to the word phrases from the following options in question.
Sporadic

A. = Epidemic

B. ¢ Whirling

C. ¢ Occasional
D

{~ Stagnant

Choose the word /phrases which is most similar in meaning to the word phrases from the following options in question.

Bountiful

A. ¢ Pretty



Q19

Ops:

Q20

Ops:

Q21

Ops:

Q22

Ops:

Q23

Ops:

B. ¢ Generous
C. ¢ Shameful

D. ¢ Spiritual

Choose the word /phrases which is most similar in meaning to the word phrases from
the following options in question.

Bucolic

A. ¢ Citified

B. ¢ Rustic
C. ¢ Sick
D. ¢ Intoxicated

Choose the word /phrases which is most similar in meaning to the word phrases from
the following options in question.

Fictitious

A. ¢ False

B. ¢ Fraud
C. ¢ Foul
D. ¢ Flattering

Choose the word /phrases which is most similar in meaning to the word phrases from the following options in question.
Obscene

A. ¢ Dirty

B ¢~ Unhealthy
C. ¢ Indecent
D

¢~ Unwanted

Choose the word /phrases which is most similar in meaning to the word phrases from the following options in question.
Proscribe

A. ¢~ Allow
B. ¢ Prescribe
C. ¢ Banish
D

{~ Advance

Choose the word /phrases which is most similar in meaning to the word phrases from the following options in question.

Prone

A. ¢ Thrown Forward



Q24

Ops:

Q25

Ops:

Q26

Ops:

Q27

Ops:

Q28

Ops:

B.
C.

D.

Disease
Supine

Inactive

Choose the word /phrases which is most similar in meaning to the word phrases from the following options in question.

Gluttony
A,
B.
C.
D.

Happiness
Contentment
Satisfaction

Greed

Choose the word /phrases which is most similar in meaning to the word phrases from the following options in question.

Sozled
A,
B.
C.
D.

Cultured
Drunk
Moderate

Burning

Choose the word /phrases which is most similar in meaning to the word phrases from
the following options in question.

Deplete
A,
B.
C.
D. ¢

Take Away
Fill
Make Greater

To Exhaust

Choose the word /phrases which is most similar in meaning to the word phrases from the following options in question.

Devoid
A,
B.
C.
D.

Stupid
Lacking
Evasive

Hopeless

Choose the word /phrases which is most similar in meaning to the word phrases from the following options in question.

Resolved

A,

Summarised



Q29

Ops:

Q30

Ops:

B. ¢ Dispelled
C. i Strengthened

D. ¢~ Tangled

Choose the word /phrases which is most similar in meaning to the word phrases from the following options in question.

Incite

A. ¢ To cut off

B. ¢ Arouse or stir up

C. ¢ Commence

D. ¢ Perceive the inner nature of a thing

Choose the word /phrases which is most similar in meaning to the word phrases from the following options in question.

Parasite
A. . Disease
B i~ A less of motio
C. i~ one that clings
D i~ Exterminator

3General Intelligence & Reasoning

Q1

Ops:

Q2

Ops:

Q3

Which of the following words missing in this series SCD, TEF, UGH, , WKL?
39 siRgar o FAgfefyd o ¥ & 91 Weq SCD, TEF, UGH, WKL TS § 2
A. ~ CMN

CMN
B. —~ Ul

UJI
C. ¢~ VI

\20
D. ¢~ 1T

T
Which of the following words missing in this series CMM, EOO, GQQ, , KUU
39 g | FYfRad # ¥ &9 91 Wsg CMM, EOO, GQQ, ,KUU TS § 2
56709
A. ~ GRR

GRR
B. ¢~ GSS

GSS
C. ¢~ ISS

ISS
D. ~ ITT

ITT

Look at this series: 2, 1, (1/2), (1/4), ...What number should come next?

3 TAT BT <W : 2, 1, (1/2), (1/4), ... 3T DI Y TBAT 3Tt AMiRW?



Ops:

Q4

Ops:

Q5

Ops:

Q6

Ops:

Q7

Ops:

A~ (1)

B. ¢~ (1/3)

C. ¢ (23

D. ¢~ (1/16)

Look at this series: (1/9), (1/3), 1, , 9.What number should fill the blank?

ST YFAT DI W : (1/9), (1/3), 1, , 9 Nad R &1 fopq Tem #f w1 =nfge?

567098

A~ (253)
B. &~ 3

C. ¢~ 6

D. ~ 27

Window is to pane as book is to

TP BT S T Bhad A § del Gy fPaa Hh1e ..

A. ¢ novel
SUA™
B. ¢ glass
RIS
C. ¢ cover
HdR
D. ¢ page
kL]

Odometer is to mileage as compass is to

@E@Iﬂamﬁﬁmnﬁﬁa@r%aﬁmmm%

A. ¢ speed
g
B. ¢ hiking

C. ¢ needle

D. ¢ direction

Doctor : Nurse :: ? : Follower
Slgex . T = 2 313351
A. ¢ Employer
B. ¢ Leader
T

C. ¢ Worker

D. ¢ Manager
UqYsdh



Qs

Ops:

Q9

Ops:

Q10

Ops:

Q11

Ops:

Q12

Ops:

In a certain code 'MISSIONS' is written as 'MSIISNOS'. How is 'ONLINE' written in that code?

o (A3 B H 'MISSIONS' BT 'MSIISNOS' forRaT SITdT @ 1 39 1€ # 'ONLINE' 3 forar S g 2

A. ¢ OLNNIE

B. ¢ ONILEN
C. ¢ NOILEN

D. ¢ LNOENI

In a code language if POSE is coded as OQNPRTDF, then the word TYPE will be coded as

T HIS HIW H T POSE BT OQNPRTDF & U H HIf&d fbaT A1 g, O TYPE Teg &l pifSd fobar Simem

A. ¢~ SUXZOQFD

B. ~ SUXZQOFD
C. ¢ SUXZOQDF

D. ~ SUXZQODE

Pointing to a photograph, Vipul said,She is the daughter of my grandfather's only son. How is Vipul related to the girl in
the photograph?

TP TR & IRE IURT B U fAYd 3 BT " 98 W eI & IHhald o B 9l g 1 "BIers § daga! I faga o

G & 2

3567104

A. ¢ father
fOar

B. ¢ Dbrother

C. ¢ cousin
TR UTS

D. ¢ uncle
CIEI

A is B's sister. C is B's mother. D is C's father. E is D's mother. Then, how is A related to D?

A, BB TETEC,BHIATED, CHIUABE, DB AT R A, DA FT Tfda g 2

A. ¢ Grandfather

qlal

B. ¢ Grandmother
ardt

C. ¢ Daughter
Cl

D. ¢ Granddaughter

One morning Udai and Vishal were talking to each other face to face at a crossing. If Vishal's shadow was exactly to
the left of Udai, which direction was Udai facing?

T aE 3ad 3R A= Ueh gOR ¥ S - A &1 61 g 3 1313 [axa &1 S1a1 3¢ & a7 3R ot

dl Iy fb famm et 3R o 2

A. ¢ East

B. ¢ west

afeRH



Q13

Ops:

Q14

Ops:

Qi1s

Ops:

Q16

Ops:

Q17

C. ¢ north

D. ¢ south

af&mor

Preeti went 15 km to the west of his house, then turned left and walked 20 km. She then turned East and walked 25 km
and finally turning left covered 20 km. How far was she from his house?

Uit 3o eR 9 Uiy H 15 e 77, O S1T ST SR o fobHl =reft 1 39 iR gd 1 ok ¥ favam 3R 25 ol
I Tt SR SRR H a8 BT 3R TS & 20 [ Tt 1 98 3UA &R ¥ fopaq g o

A. ¢ 10kms
10 fopt
B. ¢ 20kms
20 fopet
C. ¢ 30kms
30 fopdt
D. ¢ 40kms
40 fopet

Choose the word which is different from the rest.
9% (G g ofl S1fohdl 9 ST 8l 1

A. = Rigveda
B. ¢ Yajurveda
C. ¢ Atharvaveda

3ydde

D. ¢ Ayurveda

Choose the odd one out

fawm

A. [ screw
|

B. ¢ Hammer
gahg

C. ¢ needle

T
D. ¢ Pin

o

Arrange the given words Alphabetical Order and choose the one that comes first.

Wwﬁmwﬁm@maﬁeﬁv%ﬁ&nﬁmaﬁﬂﬁ
A. ¢ Science
B.  Scrutiny
C. ¢ Scripture

D. ¢ Scramble

In the word ECONOMETRICS, if the first and second, third and fourth, fourth and fifth, fifth and sixth letters are interchanged



Ops:

Q18

Ops:

Q19

Ops:

Q20

Ops:

Q21

Ops:

Q22

up to the last letter, what would be the tenth letter from right?
ECONOMETRICS ¥eg # , TS UGl 3R g8, IR 31R =T, =T 3R uiera, Ui=rar 3R ©o1 3&R , 3ifad
&R b TR F1ea fagm 711 8 o) &l I GHal SH&R 31 g

A~ O

B. ~ R

C. ¢~ N

D ~ 1

IF '+' stands for '-', '-' stands for 'x', 'x' stands for '+' and '+'stands for '+'then what is the value of 56x7+13-11+15- 8+2-7?

£+'av‘ra{af':$1%m%,a‘r'-'av‘rwf'x'%,'x'av‘ra{?f'+'%aﬁ?'+'ao-ra{?f'+'%a‘r56x7+13-11+15- 8§+2-7 BT A R G ?

A, ¢~ 30
B. — 45
C. ¢~ 60
D. ~ 90

583 is related to 293 in the same way as 488 is related to
583 T THY 293 A IH RE G O 488 BT ey g A2

A ¢ 291
B. ¢~ 378
C. ¢ 487
D. ¢ 581

Find the missing number in following series. 11 : 25:: 17 :

iR siael § o S A BT 2 11:25:17:

A~ 33
B. ¢ 28
C. ¢~ 41
D. ¢ 37

Select the correct combination of mathematical signs to replace ? signs and to balance the given equation. 8 75?2?72 ? 4

W%ﬁlﬁﬂﬁﬁﬂﬁﬂﬁ%ﬂﬁﬂmﬁquﬁaﬁiﬁquﬂmmﬁw&ﬂmwﬁg? 522272
A~ =x4t
B. ~ x=+=
C. r x+=+

D. & +x=+

If P% of P is 36, then P is equal to:

i P BT P% 36§, d9 P SRISR BN



Ops:

Q23
Ops:

Q24
Ops:

Q25

Ops:

Q26

Ops:

Q27

Ops:

B. ¢~ 60
C. 600
D. ¢~ 3600

40.83x1.02x1.2=?

A. ¢ 41.6466
B. ~ 42479532
C. ¢ 49.97592

D. ¢ 58.7952

729:3::64: 7
A, ¢~ -686

B. ¢~ 0686

C. ¢ 1

D. &~ 2

Iron: anaemia::Sleep: 7

el : Yo s HAlg 2

A. ¢ Somnambulism
He & ga

B. ¢ Dreams
J94

C. ¢ Insomnia
3T

D. ¢ Nightmare
gRT U]

Complete the series : 64 128 92 220 148 404 ?

A, ¢ 332
B. ~ 296
C. —~ 276
D. ¢ 260

Complete the series : 5, 6, 16,57 ? 1245, 7506

%ﬂﬁ@ﬂﬁ:s, 6,16, 572 1245, 7506
A ¢~ 6
B. ¢~ 44

C. ¢~ 57



Q28

Ops:

Q29

Ops:

Q30

Ops:

D. ¢~ 248

If OUGHT is coded as ABCDE in a certain language. How can TOUGH be coded in the same language?
g forht T8 4TS H OUGHT &1 ABCDE & ®U H Geag (a1 ol § | St HTH & TOUGH &t
F PIfSd foraT S Havell &2

A. ¢~ ABCDE

B. ¢ BCDEA
C. ¢ CDEAB

D. ~ EABCD

If BITER is coded as KLMNO in a certain language. How can TRIBE be coded in the same language?

gfe fopeft A HTeT & BITER & KLMNO & U H hifed foar Sid 8 1 S HTWT & TRIBE &1
Hifsd fpar o geodr 82

A. ¢~ MOLNK
B. ¢~ MOLKN
C. ¢ MOKLN

D. ¢~ MOKNL

\l

Pointing to a man in the Photograph Kabir said, 'His son's mother is the only daughter in law of my mother".
Who is the person in photograph to Kabir?

HICHTE § T 3! Bt 3R SIRT HXA §U HAR - Hgl, D o $I Al 81 AT i gbal 98 o'l

PR B TR el AT B 82
A. ¢ Brother
B. ¢ Uncle
3{hd
C. ¢ Father
fOar

D. ¢ None of these

IRIgd § A H¥S Te



